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(el
ot = 3| Ao 5
= A8 22 ) R sE= 2
ol 9,305,394,000 6,720,462 ,000 2,584,932,000
St= 0 2QI5H 7Y 9,269,394,000 6,684 462,000 2,584,932,000
AtstsiEolsi 2 R ol 487,700,000 421,000,000 66,700,000
(1) 139,500,000 150,000,000 10,500,000
Jb HE AR 65,000,000 50,000,000 15,000,000 &5 /X|XFH of =2 50,000,000
HE /XX AF5HUA(SNH) 15,000,000
2~ A 65,000,000
LE Abd A o L 5=9 74,500,000 100,000,000 25,500,000 [71d#l/ctal o 7= 100,000,000
(LIMC3.0) Atsta S7| 70 L td A2 9,500,000
7| R /b oA =l (ZHH) (35,000,000)
2~ A 74,500,000
(2)ug2g 2 4,000,000 - 4,000,000
Jb gAY 4,000,000 - 4,000,000 [(LIMC3.0)Ard x| X=X} WS 3py =2l 4,000,000
2 A 4,000,000
(3)7|&0l™ 2 13,000,000 1,000,000 12,000,000
ZF | AR MO M =2 5,000,000 - 5,000,000 [(LINC3.0)E&,Atedst4=2l 5,000,000
2 A 5,000,000
Ll 30| M9 8,000,000 1,000,000 7,000,000 |7|&0| 74| 1,000,000
(LINC3.0)7|&0IN 5te$2 7,000,000
2 A 8,000,000
(4) M| XIMALE RS9 312,200,000 269,000,000 43,200,000
7t M| XMALE R 59 5,000,000 5,000,000 - [LINGHASHAEAM | ALERZ 5,000,000
2 A 5,000,000
Lt oy 242 307,200,000 264,000,000 43,200,000 ?F:jijg)z;i;g R E 264,000,000
AAESME ARV A= (SY) 43,200,000
& A 307,200,000
(5)7| EFMEF R = =2 19,000,000 1,000,000 18,000,000
7}. 7| ERAESEE{ 2] =0 19,000,000 1,000,000 18,000,000 |[7| A2 2 1,000,000
(LINC3.0)7| &AHE 715 AlH & g2 18,000,000
2 A 19,000,000

8,429,174,000

5,978,392,000

2,450,782,000
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2,412,332,000
2,412,332,000
103,550,000
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70,450,000
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4,601,050,000
4,601,050,000
1,154,742,000
1,154,742,000
268,350,000
15,000,000

7,013,382,000
7,013,382,000
1,258,292,000
1,258,292,000
338,800,000
11,000,000
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(2l #)
JP—— =
e o e se(iD) SEe =
11,000,000 15,000,000 |- 4,000,000 M5 /XX o 72 ZHHH| 5,000,000
AAA /e A7 ZHNH| 10,000,000
AAR /T oA =] ZHEH| (M) (4,000,000)
2 A 11,000,000
327,800,000 253,350,000 74,450,000
1,500,000 11,400,000 |- 9,900,000 [REDIEDEI 7= 3,900,000
HE /X R o 42 7,500,000
TEWNENST| SRS Meed(HNH) (3,900,000)
HE /X XA o 742l (ZH) (6,000,000)
2 A 1,500,000
326,300,000 241,950,000 84,350,000 |(SA178)MBOstSE ALY X2 241,350,000
(A7) - Sl AT ST AlH| 600, 000
(A FE) M IS MALY XA F(LNH) (51,650,000)
(LINC3.0) MStdp{{ M= M 2L SIS M ALY |82 61,000,000
(HIVEAIY ) ISR YRS HEX FAIY X dF 75,000,000
2 A 326,300,000
5,000,000 10,000,000 |- 5,000,000
5,000,000 10,000,000 |- 5,000,000
5,000,000 10,000,000 |- 5,000,000 |HHESME XY J|23 10,000,000
HEESHEH XY 7|8 F (L) (5,000,000)
2 A 5,000,000
8,720,000 6,720,000 2,000,000
8,720,000 6,720,000 2,000,000
4,520,000 4,520,000 o N 4,500,000
St 7| ¢ (M| %) ol Rp=< 10,000
57| @ (SEE) O Rk 10,000
2 A 4,520,000
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(2t &)
o & 20225 Al = 20225| A H = 5
o] = 2(22 20 ALK S Sl Bl =
CtM7|2F+Ho0|2
2. 7|Ef2 el 4,200,000 2,200,000 2,000,000 [FHA A= X1 RS 2,000,000
J|ElRde £ - ZAEQ 200,000
QFEUAH AE X|od JHMZ(EN) 2,000,000
2 A 4,200,000
.M FEEoZst RN 36,000,000 36,000,000
1) 5zl o &t 36,000,000 36,000,000
(1) 2B F St 36,000,000 36,000,000 HAESME AUEEZ 36,000,000
(2)7|EH| FESEM BT
2)7| 2zl ==
(1)&7| 222
I.sa27EY 9,596,240, 050 6,711,862,000 2,884,378,050
1. 2880200352 REY 6,395,909, 326 4,755,912,000 1,639,997,326
1) A5 2 REY 171,603,890 176,400,000 |- 4,796,110
(1) 53] 2 o4 21| 141,203,890 150,000,000 |- 8,796,110
7). elzs| 103,628,290 86,000,000 17,628,290 |& £ /X| Xk Qlz4H| 22,000,000
AR /e Q1 Z4H| 64,000,000
B2 /X| X ol 7AH|(BH) 22,959,600
AR /e QlAE|(ZHH) (5,331,310)
2 A 103,628,290
Lt ShA ol 4 H| 4,500,000 7,000,000 |- 2,500,000 |& £ /X|Xbx| sHalolzdn| 2,000,000
LA /EHA| EH ol 74| 5,000,000
HE /X XA st ol 4| (S) 1,000,000
AR /A S ol A | (ZH) (3,500,000)
2 A 4,500,000
Ch. 47 AlA  E|H| 1,000,000 3,500,000 |- 2,500,000 |& S /X AtA o4 FA| A FH|H| 1,000,000
AP A| /A oA A A FhH|H| 2,500,000
AR /R o A EhH|H|(Z4) (2,500,000)
2 A 1,000,000
2t o e =H| 26,452,050 30,000,000 |- 3,547,950 &2 /X|AtH oA FESH| 15,000,000
A /by o FEHEH| 15,000,000
(LINC3.0)MEtE 7| &7 watr| 7 &S| (M) 7,500,000
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=0l &M )

(2l #)
=5 20225| Ald = 202235| Al = -
ale] = 5 E 520l MH(A) 20l 44(B) St dE=A =
HE /X XA oA FESH|(ZHH) (1,083,150)
AR /Eh o FEHEH (7:.*%“) (9,964,800)
| 26,452,050
of. o #x 24| 5,623,550 20,000,000 |- 14,376,450 &5 /X XFH| oA 7R 2H| 10,000,000
AR /A oA R 21| 10,000,000
(LINC3.0) A&t &7 &7 erntr| o 72 2| (A A|) 2,000,000
AR /A oA TR 2| () (8,500,000)
M2 /X XA 04?XHEHI(7:.+%) (7,876,450)
| 5,623,550
ol o gt - 1,000,000 |- 1,000,000 |AFAR|/Ehe| o gt 1,000,000
AR /R o =T ZHH) (1,000,000)
2~ A 0
A}, 2| EFod 17| ghH| - 2,500,000 |- 2,500,000 |AF@iAl|/hA| 2| Erod 77| e 2,500,000
AR /THA [ EFOI TN HhH| (Z24H) (2,500,000)
2 A 0
(2) M| 2HH| 4,000,000 4,000,000
7}. ol AH| 3,500,000 3,500,000 [(LINC3.0) AP A A ZEIX} WS DA ZALR 3,500,000
2 A 3,500,000
L S 3pY 7| |
Ct Ztsta
2} A A S|
o}, 7|Etm §-2HH| 500,000 500,000 [(LINC3.0)Atdxl MA X mEIE 2HH| 500,000
2 A 500,000
(3) X A A MAHH|
Zh XA AHAIA| QFEH
LI AtsbgiaiE A2
(4)StuA|EALER 26,400,000 26,400,000 -
7F StmA| AL R 26,400,000 26,400,000 - |[HHESHE AMAIER 26,400,000
&~ A 26,400,000
(5) 7| ERAEFE] 24 H|
7|. 7|E|.A|.8|-§E=Hj|
)X AFAIH| i g 7 EN 5,608,515,976 4,223,442 ,000 1,385,073,976
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7] 20224 03& 012

Ofl ALA] (31 20| ALAT )

2B 2023 02 28 77HX|

(2l #)
= 20223| Al = 202238| A = =2HAB) ANE = oy
3 = B0 &H(A) Eojl2H(B) =7 -t =
(1) 74| 231,050,000 212,600,000 18,450,000
7}, el 4H| 15,000,000 60,000,000 |- 45,000,000 |& 5 /X|XFA| 2lz4H| 60,000,000
HE/X| XA I AH|(ZH) (45,000,000)
&~ A 15,000,000
L}, st ol AH| 31,290,000 20,800,000 10,490,000 [FEWNEDSI7| SRS 2 St QI 44| 10,800,000
M2 /R RbA| St ol 10,000,000
(LINC3.0) MtstE 7| &0 ehobr| stA ol 44| 12,990,000
HE /R R S ol AH| () (2,500,000)
2~ A 31,290,000
Ch. 47 Al A F|H| 31,780,000 45,200,000 |- 13,420,000 [2EDED}SI7| &7 22 o LA|A Eh|d| 40,200,000
HE /X RH AFAIM  EHH[H| 5,000,000
TENSISI|SR S AFAIM Fo|d|(ZH) (18,820,000)
(LINC3.0) A&t 7| &7 2robr| oA A A Ahd|H| 10,400,000
HE /X XA oAFA| A Fho|d](ZHH) (5,000,000)
2 A 31,780,000
2. 7 EEH| 86,798,600 38,300,000 48,498,600 |FEWMENST|SX S8 7 EEH| 18,300,000
HE /X RH oA eS| 20,000,000
FENSYSV| XS AFESH|(BH) 14,270,000
(LINC3.0) Atetz &7 70 Uatd| A7 & SH| 24,228,600
HE /XA oA FEEH|(B5Y) 10,000,000
2 A 86,798,600
of. o4 7R 2| 27,581,400 15,000,000 12,581,400 |5 /XIXtH 77 2H| 15,000,000
(LINC3.0) Atetz &7 70 Latd| A7 ZH| 27,581,400
HE /R R oA TR 2 H| () (15,000,000)
& A 27,581,400
o o g 38,600,000 28,300,000 10,300,000 [2EDEDs7| & =2 of 4t 10,800,000
HE /K| K| oA =gt 17,500,000
TEWNSNST|SXSH AT (HN) (2,000,000)
(LINC3.0) MtEtE 57| &7 ehax| ol #gf 19,800,000
HE /R oA 4= ZHH) (7,500,000)
& A 38,600,000
Ab. 9| EFed I b - 5,000,000 |- 5,000,000 |& 5 /X|XEH| 2| Erod 77| e 5,000,000
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20225| A AT =B(1XH) FIIEE o A (8 F0d

7] 20224 03& 012

2B 2023 02 28 77HX|

(el
= 20223| Al = 202238| A = =7HA-B) = oy
o[ = 2| B 5o A(A) 20 2H(B) == -
SAZZ Y AL 2,000,000
oA ae| 2o 17,600
27,917,600
LE Attt = e
Ch. 7| HEA| A ZHH|
2}, o Al ob 22| 500,000 500,000 - [FIH/7|EtAF S 500,000
500,000
Of o4 L& otz H|
vt o | EsH|
Al AT EEX| 2
(3)M 3l ggx|aly| 2,000,000 2,000,000 -
7} 1f st 2 st etE|
LE X AT AFA SR 2,000,000 2,000,000 - [mFEdAT X AR 2,000,000
2,000,000
(4)7| EFx| 21| 150,976,250 74,350,000 76,626,250
7} 7| EFX| 2| 150,976,250 74,350,000 76,626,250 [2EAIY MA mA 3,000,000
(HAa1gs)M2 At T EFX| fdH| 71,350,000
(HrsE)Me ted 7| EFX| 28| ( 5,150,000
(LINC3.0) Atsted 41,000,000
(HiVEAIR) 1S4 22,500,000
7| EFX| Y H| 7,976,250
150,976,250
grateH| s R EH 159,320,000 127,320,000 32,000,000
(1) dekga|y] 159,320,000 127,320,000 32,000,000
7}. 21 z44| -
Lt 2 Hbd| A | 159,320,000 127,320,000 32,000,000 |2 £LIE7|2 | 51,000,000
HHESMHH iy 6,480,000
HEESHE Ha 31,200,000
HHESMHEH A 7,200,000
FHESHdH Z 2,400,000
Al SME olEUl A} 4,800,000
FHESHH 4,320,000
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20228| A AT ZHFZ(1XH) FIHEE of| &AM (B F 0 LHA)

E7| 20224 03¥ 01U FE 2023 02& 28U 7tX|

(2l #)
= 3| A A 3| A o .
P = 2(22 20 ALK P ate) Sl Bl =
AAESME EHO|X| FXEFE 780,000
HAE SHE X AXIAI AN 9,000,000
HHEsHEH MAH(AF7H X I) 10,000,000
51l 7| o (M| ) ® 2| 120,000
St 7| ¢ (BFA) M| A H| 20,000
HEESHE HAH(AF7]1Y X §)(5NH) 32,000,000
QIE Q| EF7| 2 M AH| () (5,000,000)
EAH S HME WIN-CMSME|A AL Z 5,000,000
2~ A 159,320,000
20,919,600 20,000,000 919,600
20,919,600 20,000,000 919,600
20,919,600 20,000,000 919,600 |2/ F ALY ZtoH digh 9| 20,000,000
QE ALY T Hit 9 (BM) 919,600
2 A 20,919,600
250,000,000 100,000,000 150,000,000
250,000,000 100,000,000 150,000,000
250,000,000 100,000,000 150,000,000 |[Stus|AMES 100,000,000
SRS ANEZ(EY) 150,000,000
2 A 250,000,000
2 EXEEoZ 0GB RENY 3,176,330,724 1,931,950,000 1,244,380,724
|=
FEESIt
FAZSAMNF SR E
ZEXX| &
F XA EXX| &
: 3,174,330,724 1,929,950,000 1,244,380,724
1,266,929, 651 508,000,000 758,929,651 |(EA198 )M B aE AALY WS EHAT| M| 508,000,000
(SHA18) MBS ALY () (80,318,000)
(LINC3.0) ptstoigd g M E M 2o St A ALY H| 144,600,000
(HIVEAIY) DS A& A WS HE X A H| 694,647,651
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20225| A AT = B(1X) FIIEE o &AM (8 F 04 £HA)

27| 2022 03" 01 FH 2023 02 28 77HX|

(2t &)
o & 20225 Al = 20225| A H = 5
o] = RS (s) St sE=A =
&~ A 1,266,929, 651
(J)TEEHNS
(4)ZIAZI 75 = 1,563,853,611 1,097,350,000 466,503,611 [(HA1SFE) M ISR AMALRY J|HZ7| 7 HE 1,087,350,000
LINCE R} A& Z[AIZ|+ 3 S 5,000,000
HAHEFHE MojLA J|AH |7 FE 5,000,000
TEWNSNSI|SXEA J|AHZIF FS 8,000,000
(S 78)ME S MALE (HH) (505,533,033)
(LINC3.0) Atstodp{ai M = M 2 st S A AL | 706,850,000
(HIVEA L) DTSR A W SHE X T ALY H] 222,186,644
HALFSHE J[AHT|F FS 35,000,000
2~ A 1,563,853,611
(5)R7|H|EHE 343,547,462 324,600,000 18,947,462 [(HA17& )M 2O SIS AALY EI|HIE 35 319,600,000
AR E SME MojLta EIHE F5 5,000,000
(S 7)) MO S AAIE () (167,252,238)
(LINC3.0) ptstoigi g M =M 2 St S A ALY H| 81,389,000
(HIVEAIRY) D SX G WS HE K| F AL H| 99,810,700
AAESME FIHIE FS 5,000,000
2 A 343,547,462
3) FEAIME SR E 2,000,000 2,000,000
(NXHAMAHE 2,000,000 2,000,000 S5 S5H| 2,000,000
2 A 2,000,000
(2)74 | 3 &
(3)7|EFRH AR &
SMEHSORQASIHTREN 24,000,000 24,000,000
1) £ &l 2| A5t 24,000,000 24,000,000
(M ESgHA 24,000,000 24,000,000 HYESHME AU ST gHet 24,000,000
& A 24,000,000
(2)7|EHH| SR EL
2)7| 2= et
(1)EAZI2gLD
oS RA-7=) - 290,846,050 8,600,000 |- 299,446,050
IREEIET
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20225| A AT =B(1XH) FIIEE o A (8 F0d
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o= 20223| Al = 20223| Aol = =7HA-B)
= 2| 5220l AH(A) 0] AH(B) ==

687,359,984 567,323,507 120,036,477

396,513,934 575,923,507 |- 179,409,573
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